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T Hl 4,746,794
HiNsS 23tx 4 4,519,203 2,886,807 1,632,396
Al 1,400,000
-l 3,119,203
FIE S5 (FE SH3H) 2,027,000 52,753 1,974,247
Al 1,400,000
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Jel=XtAt 27,000 27,000 0
301 et a =z 27,000 27,000 0
MIIEE4d3 27,000 27,000 0
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dEs A2 A4 2,000,000 0 2,000,000
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01 A& HI 2,000,000 0 2,000,000
OFEYS LOATYENT 2AH
2,000,000, 000& 2,000,000
AlHI 1,400,000
T Hl 600,000
SLEFINE 2 (FHE SE3H) 636,642 545,951 90,691
SG=IE 2el 245,761 179,074 66,687
201 Let24d] 56,645 38,090 18,555
01 At 22l 52,865 33,050 19,815
OC= 468-13 =Xt&E 22X Xt
5,324,580& 14 5,325
OSsk BEF:XE &4 22l 4,000,000& 4,000
Ostl =x& Mg 222 M
70,0003 4504 1) +23] 6,300
OZYFAY LFYIN+4E
1,200,000 *24H 2~ 28,800
O3ZFxd YEx=2 400,000 * 104 & 4,000
OZEF=X& et E X & 1,500,000 1,500
OGN 2HES 1,500,000& 1,500
O3EFxE 2l mWEHI(2A, E)
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02 2324l 3,780 5,040 A 1,260
OS=EE3EFIE otEA 2HelAd &I
=3 300,000& x12& 3,600
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401 A& HI L 2 0HHI 114,000 80,000 34,000
01 Al&H| 114,000 80,000 34,000
OXe s Se2IFIE A &X
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A X 5,000,000& 5,000
OZ2EFXHE ANEZE X 20,000,000 20,000
OFXE THE M 60,000,000 60,000
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7,000,000 *2JH 2 14,000
FZHAN dFEFUHE 24 390,881 366,877 24,004
201 2Et2Hy| 19,659 17,333 2,326
01 AP 2t 2] d| 19,659 17,333 2,326
OFAHA dEFXNE 2ES2E 11,670
OHLY = X & 80,000 204 1,600
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40 70,000 « 104 700
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- E=X2X2 20,0002 *1007H 2,000
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oJles 988,036
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